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Instructions for the Candidates

Write your roll number in the space provided on the top of
this page.
This paper consists of seventy five multiple-choice type of
questions.
At the commencement of examination, the question booklet
will be given to you. In the first 5 minutes, you are requested
to open the booklet and compulsorily examine it as below :
(i) To have access to the Question Booklet, tear off the
paper seal on the edge of this cover page. Do not accept
a booklet without sticker-seal and do not accept an open
booklet.
Tally the number of pages and number of questions
in the booklet with the information printed on the
cover page. Faulty booklets due to pages/questions
missing or duplicate or not in serial order or any
other discrepancy should be got replaced immediately
by a correct booklet from the invigilator within the
period of 5 minutes. Afterwards, neither the Question
Booklet will be replaced nor any extra time will be
given.
(iii) After this verification is over, the OMR Sheet Number

should be entered on this Test Booklet.
Each item has four alternative responses marked (A), (B), (C)
and (D). You have to darken the circle as indicated below on
the correct response against each item.
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where (C) is the correct response.
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If you write your Name, Roll Number, Phone Number or put
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allotted for the relevant entries, which may disclose your
identity, or use abusive language or employ any other unfair
means such as change of response by scratching or using
white fluid, you will render yourself liable to disqualification.
You have to return the test question booklet and Original
OMR Sheet to the invigilators at the end of the examination
compulsorily and must not carry it with you outside the
Examination Hall. You are, however, allowed to carry original
question booklet and duplicate copy of OMR Sheet on
conclusion of examination.
Use only Blue/Black Ball point pen.
Use of any calculator or log table etc., is prohibited.
There is no negative marks for incorrect answers.
In case of any discrepancy in the English and Hindi versions,
English version will be taken as final.
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ADULT EDUCATION
Paper - 111

Note : This paper contains seventy five (75) objective type questions of two (2) marks each. All

questions are compulsory.

1.  Distance Education is recognised by

(A) UGC (B) NCERT
(C) NIOS (D) DEB

2.  Population Education in colleges is
imported through
(A) Women Development Cells
(B) NSS

(C) Population Education Clubs
(D) Dramatic Society

3. The Chairman of First Higher
Education Commission was
(A) Maulana Azad
(B) Zakir Hussain
(C) Radha Krishnan
(D) D.S. Kothari

4. Male/Female Sex Ratio in India has
increased from 2001 to 2011
(A) 933-943 (B) 933-946
(C) 930-943 (D) 930-946

5.  Main functions of GRC is
(A) Gender equality
(B) Child care
(C) Empowering woman
(D) All of the above

6.  Functions of CEC are
(A) Income generation
(B) Individual Interest promotion
(C) Equivalency
(D) All of them

7.  Median does the following :
(A) Gives the average size of data.
(B) Shows the maximum frequency.
(C) Divides the whole distribution
into two equal parts.
(D) Shows variation among the data.

8.  ‘Range’ shows the following :

(A) The differences between the
maximum and minimum number

(B) The number with maximum
frequency.

(C) The number which divide the
whole distribution in two equal
part.

(D) None of the above.

Paper-I11

9.

10.

11.

12.

13.

14.

15.

16.

PEC’s in institution function under
(A) UNFPA (B) UNICFE
(C) UNDP (D) WHO

Sulabh International is engaged in
(A) Food Security

(B) Legal Awareness

(C) Remedial Adult Education
(D) Sanitation

Evaluation of extension programme
should be

(A) Quantitative

(B) Qualitative

(C) Both Qualitative and Quantitative
(D) None of the above

Learning needs of Adults in rural and
urban areas are

(A) Quite difference

(B) Same

(C) Some what different

(D) Cannot say

NIOS offers
(A) Open Basic Education
(B) Academic Programmes

(C) Vocational Programmes
(D) All of the above

The learning material for Adult
Education is produced by

(A) National Book Trust

(B) State Resource Centre

(C) Non-Governmental Organization
(D) All of the above

Each one teach one model is suitable

for

(A) Urban Area

(B) Rural Area

(C) Scantly distributed population
area

(D) None of the above

Conditioning, imitation, memorising,
skill training and exploring are stages
for adult learning theory by

(A) Bloom (B) Belbin
(C) Skinner (D) Pavlov
J-46-14
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17.

18.

19.

20.

21.

22,

23.

24.

25.

Adult learning should be
(A) Learner-centred
(B) Process-centred
(C) Content-centred
(D) All of the above

Training of Prerak at CEC should
have

(A) Group work

(B) Field visits

(C) Presentation by expert

(D) Above all

Which one of the following is the
result of Adult Literacy Programme ?
(A) Chipko movement

(B) Bachapan Bachao Andolan

(C) Anti-arrack agitation

(D) Bhoodan movement

Leadership style in extension
programme should be
(A) Autocratic (B) Democratic

(C) Participatory

First evaluation of Continuing
Education Programme is done after
(A) One year (B) Two years
(C) Three years (D) Four years

Constitutional Amendment 73 is not
related to

(A) Power to people

(B) Democracy at grassroot

(C) Literacy to people

(D) Local Self Government

‘Angootha Chhap’ is a

(A) Literacy Learning Sheet
(B) Literacy Radio Programme
(C) Literacy Primer

(D) Literacy Film

Sakshar Bharat programme
completed how many years on 8"
September 2013 ?
(A) Four
(C) Six

(B) Five
(D) Seven

Meeting the current development
needs of today without compromising
the future needs is known as

(A) Distribution development

(B) Democratic development

(C) Sustainable development

(D) Equitable development
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(D) None of above

26.

27.

28.

29.

30.

31.

32.

33.

34.

Most widely used method in social
research is

(A) Case Study

(B) Interview

(C) Participant Observation

(D) Survey

Term ‘Praxis’ was coined by
(A) Petarson (B) Knox
(C) Friere (D) Knowles

Literacy rate increased from 2001 to
2011

(A) 64.8% —T3%
(C) 64.8% —T7%

(B) 64.8% —75%
(D) 64.8% —78%

‘Convergence’ journal is published by
(A) ICAE

(B) IUACE

(C) TAEA

(D) DUV International

‘Delegation’ means

(A) Transferring specified resources
to people

(B) Transferring specified powers to
sub-ordinates

(C) Transferring specified powers to
superiors

(D) Garnering maximum benefits
from resources

Who coined the term ‘extension’ ?
(A) Charles McCarthy

(B) Triebel

(C) Rogers

(D) Belanger

Which one of the following is a
centre of polyvalent education ?

(A) Jan Shikshan Sansthan

(B) Lok Shikshan Sansthan

(C) State Resource Centre

(D) None of the above

The World Education Forum adopted

EFA goals at Dakar in year
(A) 1997 (B) 1998
(C) 1999 (D) 2000

According to which author ‘adult’s
life situation is central to learning ?

(A) Skinner (B) Ausbel
(C) Thorndike (D) Knox
J-46-14
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35.

36.

37.

38.

39.

40.

Training focuses on

(A) Long-term issues of significance
(B) Immediate concerns

(C) Extended concerns

(D) None of the above

Which one is not correct about

education and empowerment ?

(A) It helps people coming together
and act as a collective.

(B) It inculcates the value of
Superiority.

(C) It helps improve productivity.

(D) It enables a person to negotiate
better.

What is not true about Mabhila

Samkhya Programme ?

(A) It was not initiated by Government

(B) It was intended to enable women
to organize

(C) Government cannot mobilize women

(D) It was formulated in 1988

The size of sample for external

evaluation of literacy programme

was prescribed as

(A) 2% of the universe subject to
maximum of 5000 learners

(B) 3% of the universe subject to
maximum of 6000 learners

(C) 4% of the universe subject to
maximum of 8000 learners

(D) 5% of the universe subject to
maximum of 10000 learners

Which one is not a required skills of
a manager ?

(A) Mind reading skills

(B) Technical skills

(C) Conceptual skills

(D) Human skills

Social factors of personality are
i.  Physical appearance

ii. Parents

iii. Home environment

iv. Nervous system

Codes :

(A) 1is true.

(B) Bothii and iii are true.

(C) Bothi and iii are true.

(D) Both ii and iii are false.
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41.

42,

43.

44.

45.

46.

Living and learning for a viable
future : The power of adult learning,
was the slogan of World Conference
held in

(A) Canada (B) Brazil

(C) Germany (D) France

Work Oriented Literacy Project was
conducted in

(A) Vietnam

(B) China

(C) Germany

(D) None of the above

Which country adopted the model of
‘Yes I Can’ in promotion of adult

literacy ?
(A) China (B) India
(C) Tanzania (D) Vietnam

Which international organization
coordinates the ‘Education for All’
programme at global level ?

(A) UNDP (B) UNESCO
(C) IMF (D) UNFP

What are the correct informations
about literacy programme of Vietnam ?
I.  Ho Chi Minh

II. Literacy rate more than 90%

III. Learning in short term activity

IV. Popular learning centre

Codes :

(A) I, I are correct.

(B) II, IV are correct.

(C) IIL, IV are correct.

(D) I, IV are correct.

Assertion (A) : Continuing Education
is one of the hallmark of
learning society.

Reason (R) : Continuing Education
based on the premise that all
adults should be entitled to
continue a opportunities for
education throughout their lives.

Codes :

(A) (A)istrue and (R) is false.

(B) (A) is false and (R) is true.

(©) (A) and (R) are true and (R) is

the right explanation of (A).
(D) (A) and (R) are true and (R) is
not the right explanation of (A).

J-46-14
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47.

48.

49.

50.

Assertion (A) Induction is an
important technique of training.
Reason (R) : Induction does not help
the employee any way.
Codes :
(A) Both (A) and (R) are true and
(R) is correct explanation of (A).
(B) Both (A) and (R) are true, but (R)
is not correct explanation of (A).
(©) (A)is true, but (R) is false.
(D) (A) is false, but (R) is true.

Assertion (A) : Computer literacy should
be an important component of
continuing education programme.

Reason (R) : Computer facility available
in every part of country.

Codes :

(A) Both (A) and (R) are true and

(R) is correct explanation of (A).

(B) (A) and (R) both are true, but (R)

is not the correct explanation of (A).
(©) (A)is true, but (R) is false.
(D) (A) is false, but (R) is true.

Assertion (A) : Rehabilitation
Council of India (RCI) is
responsible for education and
training of differently abled

persons.
Reason (R) Differently abled
persons  should have a

specialised agency equipped to
handle their specific need of
education and training.
Codes :
(A) Both (A) and (R) are true and
(R) is correct explanation of (A).
(B) Both (A) and (R) are true, but (R)
is not correct explanation of (A).
(©) (A)is true, but (R) is false.
(D) (A) is false, but (R) is true.

Assertion (A) : Illiteracy rate among
minority group adults is still
very high.

Reason (R) Education for all
programme has not reached to
all population.

Codes :

(A) Both (A) and (R) are correct and (R)

is the correct explanation of (A).
(B) Both (A) and (R) are correct, but
(R) is not the correct explanation
of (A).

(©) (A)is true and (R) is false.

(D) (A) is false and (R) is true.
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S1.

52.

53.

54.

Assertion (A) : NAEP was an adult
education program.
Reason (R) : Total literacy campaign
is an improvement of NAEP.
Codes :
(A) Both (A) and (R) are correct and (R)
is the correct explanation of (A).
(B) Both (A) and (R) are correct, but (R)
is not the correct explanation of (A).
(©) (A)is true, but (R) is false.
(D) (A) is false, and (R) is true.

Assertion (A) : There is a positive
co-relation  between  basic
literacy and primary education.

Reason (R) : It has been a found that
total literate districts have
shown increase in enrolment at
primary education.

Codes :

(A) Both (A) and (R) are true and (R)

is the correct explanation of (A).
(B) Both (A) and (R) are true, but
(R) is not the correct explanation
of (A).

(©) (A)is true, but (R) is false.

(D) (A) is false, but (R) is true.

Assertion (A) : Mean in a distribution
represent the whole data.
Reason (R) : Mean is not affected by
extremities of data.
Codes :
(A) Both (A) and (R) are true and
(R) is correct explanation of (A).
(B) Both (A) and (R) are true, but (R)
is not correct explanation of (A).
(©) (A)istrue and (R) is false.
(D) (A) is false and (R) is true.

Assertion (A) : Health care of rural
population is one of the major
concern of Government of India.

Reason (R) : N.RH.M. has been
implemented to provide health
services to rural population.

Codes :

(A) Both (A) and (R) are true and (R)

is a correct explanation of (A).
(B) Both (A) and (R) are true, but
(R) is not a correct explanation
of (A).

(©) (A)is true, but (R) is false.

(D) (A) is false, but (R) is true.
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AHHYT (A) : FHEF FERAT, Faq
3187 FISRH I B BT AT |

HROT (R) : T Flerel 37 o &L 9
T YTy T |

®e: . .

(A) (A) T (R) SHI ¥ & @ (R),
(A) BT A |

(B) (A) @ (R) qHI ¥ & @1 (R),
(A) I W& AT T € |

(C) (A)TFE R (R) T € |

(D) (A) T &, R (R) TI & |

FIWHUT (A) : IRAE I IRYT (RCI)
Tl emameTet SAfaar & e
T UTeTeIor & o SR ¥

HROT (R) : faf=T &1aar ot stear
% fafere gen =ifew, s 3
Taror forem qem mfsreror eTervashaTett
I THEE H @ e |

®e: L

(A) (A) @& (R) FHI & & 3K (R),
A BT A |

(B) (A) T (R) 3F ¥ &, W
(R), (A) ! W&l == &I & |

(C) (A) TET e, W (R) T & |

(D) (A) T &, W] (R) Wl ¢ |

AT (A) : STUEEH | ST a6
IR ST TRt el € |

FRUT (R) : T & forw forem wrism
U7 STEEAT 7% el e € |

T

(A) (A) 3T (R) SHI 9 ¥ 3R (R),
(A) ST AT |

(B) (A) 3R (R) EMl ¥ & T
(R), (A) ! &l AT &I & |

(C) (A) T e, W (R) @A ¢ |

(D) (A) TR &, W] (R) W& |

J-46-14

S1.

52,

53.

54.

AfHHAT (A) : TITTY. TF Ui frem
qr |

HROT (R) : TEUT TERAT M,
TATETH, T gUR T |

D! . .

(A) (A) 3R (R) 5HI ¥ & &R (R),
(A BT e |

(B) (A) 3R (R) EM ¥ & T
(R), (A) I &l AR FE ¢ |

(C) (A) & &, <] (R) eI ¢ |

(D) (A) T &, <] (R) W ¢ |

FWFHAT (A) : URFWE HRREr T

Tt e § 0 HeRew
TETEY ¢ |

HWOT (R) : F€ T 0§ fF Q0T Wi
e | refaes forem § AmieT |
FEEET |

R . .

(A) (A) 3R (R) 3H ¥ € 3R (R),
(A) & W& AT |

(B) (A) 3R (R) 3 ¥ &, T
(R), (A) i & =0T &l ¢ |

(C) (A) W g, W (R) Tod & |

(D) (A) Tod &, W= (R) WEl & |

ATUHUT (A) : AT T3S & faawor
=t m%pﬁ N

HRUT (R) : AT 3AheT Sl AT
TuTferd et g ¢ |

(A) (A) 3R (R) T ¥ & 3R (R),
(A) B T TR |

(B) (A) #X (R) T ¥ ¥ W
(R), (A) ! &l AT &I & |

(C) (A)TFT, W’ (R) T & |

(D) (A) T &, <] (R) I E |

AETHUT (A) : UTHT AT F T H
@I IR WHR B TG
femati 5 T ¢ | .

HROT (R) : UTHIOT ST ol @A Famd
TEH A F T TSR U,
AN fepar AT E |

(A) (A) 3iX (R) T Wel & 31 (R),
(A) S TS |
(B) (A) 3R (R) 3HI ¥ & W
(R), (A) ! &l AT &I & |
(C) (A)TFE, W’ (R) T & |
(D) (A) T &, R (R) TI & |
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5S.

56.

57.

58.

Arrange the stages of group
formation as per their occurrence
from initial to last :
(a) Performing
(c) Norming
(e) Informing
Codes :

A ® © @ @ (@
B) () () @ (© (@
© @ @ @b ©© (@
D) @ ® ) (© (@

(b) Storming
(d) Forming

Arrange the stages of agricultural
growth in part as per from initial to
final stage :

(a) Sedentary cultivation

(b) Commercial cultivation

(c) shifting cultivation

(d) Subsistence cultivation

Codes :

A @ b © (@

B) @ b @ (©

© © @ @ @O

D @ (@© (@ (@

Arrange the following countries in
order of their hosting the World
Conference of Adult Education ?

(a) Canada (b) France
(c) Germany (d) Denmark
Codes :

@A @ © b @
B) @ b)) (© (@
<G @ @ O (©
O @ b (© (@

Arrange the following stages of
staffing in order of their use :

(a) Induction (b) Screening
(¢) Interview (d) Application
Codes :

A @ (© (@ (b

B) @ ® © (@

© @ @ O (©

D @ @© @b @

Paper-I11
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59.

60.

61.

Arrange the following programme of
education  according to their
implementation :

(a) DPEP

(b) POA

(c) NPE

(d) Mahila Samakhya

Codes :

@A @ ®d © @

B) @ (© @ (b

© (© @ b @

D) b © (@ (@

Match the following terms given in
List — I with the terms given in
List — II and answer the questions
using codes :

List -1 List - 11

a. CAPART 1i. Women
Empowerment

b. NABARD ii. Dairy

c. SEWA iii. Rural
Technology

d. NDDB iv. Agricultural
Banking

Codes :
a b c d
(A) iv il i ii
B) i v i i
© 1 i i v
D) iv i i iii
Match the items of List — I with those

of List — II and answer the question
using the codes given :

List-1 List — 11
a. YesIcan 1. Tanzania
b. Education is ii. Vietnam
vital for rapid
development
¢. Community iii. Ho  Chi
Learning Center Minh

d. Work oriented
literacy

Codes :

a b c d
A i i v
B) i v i iii
C© i oivil i
D) v 1 iv i

iv. J. Nyerere

J-46-14



55. UHE GO & WO &, Ik 399 d
3T T, 3TTAN aedd i 3T F
T e IW FH TG HITC
[BEIEC]

56.

57.

58.

(a)
(b)
(©)
(d)
(e)

EATA
TTehTeR0T

EIESER

AT

T4

(A)
(B)
©
D)

(b)
(e)
(d)
(d)

()
(b)
(e)
(b)

(d)
(d)
(b)
(e)

(@)
(©
(©)
(©)

(e
(@)
(a)
(a)

PN ghg & WO B IR ¥ Afw

TOT, & A H AT

(a)
(©)
£33
(A)
(B)
©
(D)

A FY
o9 T

(d) (b)

(a)
(©
(a)

(b)
(a)
(©

(©)
(d)
(d)
(d)

(a)
©
(b)
(b)

N FH
frrefie

=i 291 & 3% §RT ST WiE
ToreT & o eIfueem & 9 O Fared
T

(a)
(©

TS
ST

T4

(A)
(B)
©
D)

(d
(d)
(d)
(a)

()
(b)
(a)
(b)

(b)
(©)
(b)
(©

(@)
(a)
(©)
(d)

eare)
TTATS

At =% 999 % WO Sl S
ST o b | AT HIT

AR
B

(a)
(©

T4

(A)
(B)
©
D)

J-46-14

(d)
(d)
(d)
(d)

()
(b)
(a)
()

(@)
(©)
(b)
(b)

(b)
(a)
(©)
(@)

Erall
3o

11

59.

60.

61.

fafafea dfes FEHA B STH
TohaToa & Y H SHaneId iy

(a) SO (b) dL3MT

(c) TAWE (d) HfeeT THE
E T

A (@ b (© (@

B) @ (@© (@ (b

©C © @ b @

D b © @ (@

fretfetfiae = — 13 4 T v F

Tt — I ¥ GAfed IS
e -1 =t - 11

a. MTWMTRE. i OEen

(FUTS) ENIESERY]
b. FTATARE. ii.

()
c. THITTHT. iii. wTHIOT

() TR
d. T, iv. TTET ST
F

[N

a b c d
(A) iv il i i1
B) i v i i
(©) i i i iv
D) iv i i iii

= @ MU Fe w1 OIUER Fd gY
T — It Gat — 1 ¥ AT i
e -1 =t - 11

a. AR FHAE 1. =~

. Ok o e ii. oA
Torer aTrereae:

c. UMETas T iii. @tfw e
I

d. HERE e iv. 9.9
FT:

o

a b c d
A i i il iv
B) i v i il
C© i oivil i
D) v 1 iv i
Paper-I11



62.

63.

64.

Match the items of List — I with that
of List — II and answer the question
using codes given :

List -1 List - II
a. Fayole 1. Motivation
b. E. Mayo ii.  Principle of
Management
c. Jucious iii. Learning
Theory
d. Ausbel iv. Human
change

Codes :
a b c d
(A) i i iv il
B) i v i iii
© i i v i
D) i i v
Match the item under list — I with
that of List — II and answer the
questions using the codes :

List -1 List - II
a. Workmap 1. Man specification
b. Organizing ii. Planning
c. PLP iii. Resource
mobilization

d. Staffing  iv.
Codes :

a b c d
(A) iv di il i
B) i iiiv il
© i oiv il i
D) i i v i

Literacy program

Match the items of List — I with those
of List — II and answer with using the
codes :

List -1 List - II
(Literacy (State)
Rates)
a. 9391 i. Maharashtra
b. 91.6 1i. Himachal
Pradesh
c. 83.8 1ii. Mizoram
d. 80.1 iv. Kerala
Codes :

a b c d
(A) i v ii i
B) iv i i i
© iv oqi il i
D) iv i il i

Paper-I11
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65.

66.

67.

68.

Match the items under List — I with
that of List — II and answer the
question using code :

List -1 List - II
a. PREAL i. Learning software
b. Chaurahaii. Residual Literacy
c. PRI iii. Radio programme
d. CBFL iv. Motivational software
Codes :

a b c d
(A i i i v
B) i iv il i
©) i 1 iv i
(D) i i i v
Match the items of List — I with
List — IT and answer using codes :

List -1 List - II
a. Right to Education 1i. 2013
b. Sakshar Bharat ii. 2010

c. Right to Food iil.
d. Fundamental Rights iv. 2009
Codes :

a b c d
(A i i i iv
B) i i iv il
©) i i iv i
D) i iv i il
Match the List — I with List — II and
answer using the code :

List -1 List - II
a. LCD 1. Multimedia
b. Kathputli ii. Audio
c. Radio iii. Audio-visual
d. Internet iv. Folk media
Codes :

a b c d
A 1 i il v
B) 1w v il i
© 1o ivooil
O i v odi i
Match the following List — I with List —1II :

List - I List — 11

(Psychologist) (Personality
Assessment
Approach)

a. Freud i. Life Span

b. Sheldon ii. Humanistic

c. Maslow iii. Constitutional

d. Erickson iv. Psycho analytical

Codes :
a b c d
(A) il v i iii
B) iv i i i
<© i i v
D) ii i iv il
J-46-14



62. fATAREd i H TFNT = gC g — [ 65. I — 1 Gt — I ¥ AT BT
g — 11 T afed i - e -1 Tt - 11
Tt - 1 T - 11 a. MARETTA i AT HRER
a e i SfwrOm S SR i S
b. € ii. e T fE d. SisuwETA.  iv. WOTEEH
c. S[aEH iii. st fagTa HigeaaT
d. 3fgee iv. OFa uRad= H:
. a b c d
% A i i il v
a b ¢ d (B) i ivooi i
(A i i v il © i dvo i
B) i v i iii 5;)1 1;% 1;{ v
C) i i iv i 66. -1 _ 11 ¥ gAfea iR
D) i i i iv e -1 T=h - 11
a. Tem e efgeR i 2013
, b. &R AR ii. 2010
63. W%ﬁ@_nﬁg:jﬁw‘ c. W AHR i, 1976
= -1 L= - 11 d. difees s iv. 2009
a. FAAT i AT farfesso FT:
b. FESH i FESH R b ¢ d
c. WuAd. il HRMEA TeRiern i ST S
d. T iv. TR AR (C©) i i iv i
_— D) i iv i il
T4 b e 4 67. T - mga% n@gﬁfmaﬁfm
(A) iv i i i ‘Eﬁ Tt - 11
@) i i iv i a. TAH i Ao HiTean
©) i iv @i i b. gggfi il
D) i i iv ¢ HI. XS
d. =S iv. e Hifear
64. T — 1 % TzeT g - 11 § e b e
T (Q) RN B 1 B
T -1 T - I © 1om i
(Literacy (State) D)y 1w v i i
Rates) 68. ga“r Iagmﬁr 11 § e Sif
a. 9391 i. WHENE e - 11
b. 91.6 ii. fEumEe wew (nﬂ%mﬁa?) (wﬁaa%glmaﬁ
. 83.8 iii. oy a. WS i.
Z 80.1 ilvl e b. e ii.  FARRED
- ' c. A& iii. aﬂm
BT d. I iv. W
a b c d BT :
(A) i iv i i a b ¢ d
®) iv i il iii Eg)) meoye b
© iv i i i (© i il v
D) iv i i i D) i i iv i
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69. Match the following List — I with List—1II :

List -1 List — 11
(Policy/ACT) (Year)
a. National Curriculum i. 2005
Framework (NCF)
b. NCTE . 2010
c. NPE ii. 1993
d. RTE iv. 1986

Codes :

a b c d
(A) i i iv il
B) ii i i v
© i oiv il i
D) v i i iii

70. Match the following List — I with

List —1II :
List -1 List - I1

(HRM function) (Stages)
a. Selection 1. I
b. Appointment . I
¢. Induction mi. IV
d. Job assignment iv. I
Codes :

a b c d
(A) i1 v i i1
B) il i iioiv
© i i v i
D) i i il iv

Direction (Q. Nos. 71 — 75) : Read the
passage given below and answer the
questions based on your understanding of
the passage.

Extension is no longer associated with
sporadic lectures by the University’s ‘low
rank’ professors; other senior professors
willingly associate with the extension
endeavour. It includes multitude of
activities ranging from adult basic literacy
to provide necessary life skill and
techniques to solve one’s problem. The term
carries with it a developmental urge,
suggesting an initiative on the part of those
agencies, which have an obligation to the
society. It advocates a formative action by
the university, with resources at its
command in form of students, functionaries
and its gamut of knowledge, for those who

Paper-I11
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need such services in order to lead a better
life. Extension is perceived as a mechanism
for the university to reach out to community
and work for the common good of the
people. Based on the insights gained from
interaction , it has created possibilities for
the introduction of dimension of ‘intension’
in the form of a force to bring changes
within the formal system of knowledge,
hopefully, extension of academic curricula.
This can only be possible with the increased
and sustained interaction between university
and community.

71. What is true about the extension

services of Universities ?

(A) It has continued to operate in
seclusion

(B) Community has developed an
apathy towards such services

(C) Sporadic lecture has been
replaced by a broad based
activities

(D) It exonerate agencies of any
obligation

72. Extension has resulted into
(A) Development of insight into the
problem of the people.
(B) Development of a cadre of
functionaries.
(C) Both (A) and (B) are correct.
(D) (A) is correct and (B) is wrong.

73. According to the passage extension
has begun to influence
(A) Curricula
(B) Functioning of University
(C) Over use of its resources
(D) None of the above

74. The resources
paragraph are
(A) Students
(B) Functionaries
(C) Knowledge
(D) All of the above

75. Formative actions referred in the
paragraph are
(A) Literary programme.
(B) Any programme useful to the
community.
(C) Both (A) and (B) are true.
(D) Both (A) and (B) are untrue.

referred in the
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69. I — 1 @ g — 11 § e hifee

e -1 = - 11

(FfarTar) @)

a. UL URgEA H i 2005
TR

b. AT ii. 2010

c. THWE iii. 1993

iv. 1986

d. ARAE,
FT

a b c d
(A) i i iv il
B) ii i i v
© i oivil i
D) iv i i iii

70. e — 1 T g — 11 ¥ fae sifs
e -1 =t - 11
(T AR TA. Upamd) (JR0)
a. 9I3qd i. 1II
b. g ii. I
c. Y UR=Eg iii. IV
d. &3 iv. T
E T
a b C d
(A i iv i il
B) i i i v
(C©) i i v i
D) i i i v
fAfAfEd TR o ufeu 3 STF AER |

YITEE 71 9 75 T H ST I

TR e o favaigmem & e
T % Peqe Rl 4 & wEg Té @,
T To WA o W7 ¥ TR f¥reT & uare
Y S[e ot € | SUH g i Jold TrRRar 9§
AT ToHdl AT hl GHENST & GHY & [T
JMATAH AP qAT TFAE Tedl A
TRl 3 TiatatE ifed § | 39 WS |
AT o i I &, ol Teet e o g St
£ | T Tovataered §RT TS & Hi
S Bl I HAl €, FEieh [avaiaEed &
T 3 A, S Sed? e ST died @ bl Jar
& foTT forntéra, shrierdien 3T IR TH-HUeSR

£ | UG fren it fovatamer & U 99 % &9
T g ST €, MOd 9 HSE I g qehdl
& R 5199 58 i & Qg FHeawr & w5
T Gl & | SFGAE FRT 37 = H U1 b
TGS | THH T o el i STE Sl AHIET
U7 & TE € AINH T T BN TN THA H
UREH A o fTT U iRt o & § TR [T
ST Weh | TOY TS UISHHHl B HER 3T
Tl & | I O T & 59 {ovataeed 3iiY
TR &% g TaE 3TEUS Tl 3R TqH FRR
g gt W |

71. fovaformerar &t wa@R fS1em 67 daneti &

wfd T = E 2

(A) TE GUhaT ¥ I W |

(B) 3 Hawslt & uld WHSE
I I8t ¥

(C) THHI-FHIR o WU T LI ATTH
MR aTedt Tidfatem 3 o € |

(D) IE TSITGaAl i Sl T Sifgen @

72.

73.

74.

75.
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o Sl & |
T et 1 T8 aRoTH gan &

(A) oI @ gg@eT & ufd SIghe

EARCEIL)
(B) HEAHAIST & 1 I (Hgid
(C) (A) 3 (B) I |
(D) (A) & &, =] (B) T ¢ |

TR 3 STER TR et = ford oo

HET YR T fgar € 9

(A) TSIHRH

(B) Tawafo=era ot e
(C) =W Al I AT-STANT
(D) ST H § HiT T
T § SR A &
(A) Tormmedt

©) 3=

Ty § HefiTe T SRt &
(A) TR FHIEHT

(B) THIE & THRI his HRIHH
(C) (A) 3R (B) I TE |
(D) (A) 3T (B) 1 T & |

(B) &l
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